N = 0l & At & Ml A
2014HE 22 15 VB YA ~ XA
SN gas
M Q48 BOUA WEAD 75
ol UMS BIMNHIA 25 CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
LS 513,060 469,560 43,500
LAEE FOHAX WERIT =5 435,924 392,424 43,500
BAS dEAMHIA L3t 435,924 392,424 43,500
FOIEO MEEH M 46,558 43,058 3,500
101 Q124 4] 38,058 34,558 3,500
04 JIANZ22XSE* 38,058 34,558 3,500
Odtd EHII =2 6,940 4,440 2,500
OS&z & Atz el AR 4,330 3,330 1,000
THoH ol =0l==& o 2 145,000 145,000 0
401 AIEHI L 2 CHYI 140,000 140,000 0
01 A€ HI 138,596 138,596 0
OZE == Fbl 10,000, 000%0. 0% 0 9,892 A9,892
OzZ4d == FHl 10,000, 00098 . 92% 9,892 0 9,892
A2 THOH Ol & 60,000 20,000 40,000
401 AIEBI L 2CHEI 60,000 20,000 40,000
01 A& HI 59,784 19,784 40,000
OAx7E THOH M &AL 59,784 19,784 40,000




=
N = 0l & At & Ml A
20143 =7 18 BB LUS ~ WAL
SN ZEo
M M0 HONK UESD 25
SRl BSOS BIMHIA 23 CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
=Rt 237,887 217,887 20,000
FEY WX WERIT =5 181,213 161,213 20,000
H3H dIAMHA 23 181,213 161,213 20,000
A2 THOH Ol & 40,000 20,000 20,000
401 AIEHIZ 2 CHYI 40,000 20,000 20,000
01 A& HI 39,784 19,784 20,000
OAE THoH Ol &AL 39,784 19,784 20,000




N = 0l & At & Ml A

2N 28

M 2YH FOHAUX UWERID 2=

Helr 2498 dIAMHA 23 (&)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2

2ad 282,633 262,633 20,000
2YH FOHAX UWERHT 2= 219,905 199,905 20,000
2 HdZFAMHA 23t 219,905 199,905 20,000
A2 E THOH Ol e 40,000 20,000 20,000
401 AIEHI L 20 40,000 20,000 20,000
01 A& HI 39,784 19,784 20,000
OAE THoH Ol &AL 39,784 19,784 20,000




N = 0l & At & Ml A

20143 E £ 13 YB3 AMS ~ KA
SN ATe
HE: MEE KK WEAD 75
SRl ATE WHAHA 25 CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
sy o 256,209 236,229 20,000
MBS FOXA WERND 25 199,699 179,699 20,000
NBO BHANUIA B 199,699 179,699 20,000
A2 THOH Ol & 40,000 20,000 20,000
401 NEHIL 2 THYI 40,000 20,000 20,000
01 Al 39,784 19,784 20,000
O 277 2 TH o 0l 2 A& 20,000 0 20,000




N & 0l & Av S Z M A
20143 S £H 18 YWEH YUS ~ KA
SN e
Bu: ga0 BOXNK UEAT 75
SRl S48 HIMHA 23 CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
g4 248,586 228,586 20,000
H49 BN WEND 25 191,962 171,962 20,000
H40 #FHNUIA B3 191,962 171,962 20,000
A2 E THOH Ol e 40,000 20,000 20,000
401 NEHIL 2 THYI 40,000 20,000 20,000
01 A&l 39,784 19,784 20,000
0272 MHAHYAY 39,784 19,784 20,000




N = 0l & At & Ml A

SN a0
248 FURX UEHND 25
40 HIMHIA L5 SREED

HE . E(BA) - NRAY - BYS 0] &b 2 p/E-T 2
374,340 321,640 52,700
HOHAX WERAT 5 307,460 254,760 52,700
=2 HIANHA 235 307,460 254,760 52,700
FMNHIA 222 118,696 106,696 12,000
201 LEt2A | 117,896 105,896 12,000
02 32224l 100,796 88,796 12,000
OJxlzs dJles 72,000,000 72,000 60,000 12,000
Qo desd o 33,764 23,064 10,700
201 ¢er24| 9,200 8,500 700
02 3324l 2,300 1,600 700
OMHAIE SHEY =223 1,300 600 700
401 Al HIZ 2018 10,000 0 10,000
01 A& HI 10,000 0 10,000
omMags 2el=AH& 44X 10,000 0 10,000
72 THololl & 50,000 20,000 30,000
401 AIEHI L 201 50,000 20,000 30,000
01 A& HI 49,784 19,784 30,000
OAE THoH Ol &AL 49,784 19,784 30,000




N = 0l & At & Ml A

SA: Al
M e HFOHAX WEHIT =5
Helr AEH HHANH A 23 (&)
SA BB S (EH) - NEAMY - B 0l & oI o HIDE2
e 235,109 215,109 20,000
AEH HOHXNX WERKA *+= 178,485 158,485 20,000
AMEH HPMHA 23t 178,485 158,485 20,000
A2 E THOH Ol e 40,000 20,000 20,000
401 AIEHI L 20 40,000 20,000 20,000
01 A& HI 39,784 19,784 20,000
OL72 THAH Ol 2 AL 39,784 19,784 20,000




>
N & 0l & Av S Z M A
20149 =3 1 3] LESIH BAE ~ AAMH
AN HAHH
M M FOHAUX WERZD 2=
Selr gAY dIHAMH A 23 (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
A 250,134 230,134 20,000
HAHYE FOHANX UWERHIT 2= 190,408 170,408 20,000
A HFAMHIA 23t 190,408 170,408 20,000
A2 E THOH Ol e 40,000 20,000 20,000
401 AIEHI L 20 40,000 20,000 20,000
01 A& HI 39,784 19,784 20,000
OA7E THoHME AL 39,784 19,784 20,000




N & 0l & AF & E A A
20148 E £ 1 8 YW AAS ~ XA
SN BEY
N BEO HOKNK UEYD 2E
Shel: BED BIMHIA B CER-ED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
BEY 402,544 360,841 41,703
ZED HOXXK UEAT 25 335,814 294,111 41,703
BE HHAMLA 23 335,814 294,111 41,703
FoEo MEtEd M 25,500 24,500 1,000
101 124 Hl 15,340 14,340 1,000
MIIZRZRIER S 15,340 14,340 1,000
OREH ZHl g%y 5,000 4,000 1,000
Ssiom o2y 54,806 44,103 10,703
101 Q124 Hl 18,306 17,603 703
MIIZRZZTNSE S 18,306 17,603 703
OBESHIY 29 8,306 17,603 703
~Jlezz 41,6802 *12 x2532 10,546 10,113 433
— a0z 10,545, 0402 * 124 x4/ 12 3,516 3,371 145
- f2F84+Y 41,680 *18 x53% 2,210 2,119 91
— iRy 41,6802 *12 x202 834 800 34
405 TH&H3 St 10,000 0 10,000
01 MY SES S 10,000 0 10,000
Ozstod 25+ 10,000 0 10,000
ARD ok ol 50,000 20,000 30,000
401 A& HIZ S OHHI 50,000 20,000 30,000
01 Al& I 49,784 19,784 30,000
O 47 2 TH oH O 2 AL 30,000 0 30,000




N = 0l & At & Ml A

SN 2T
B MO BOKXK UEAT 75
SRl ATS WIMHA 23 CEEEED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
AR 253,604 233,012 20,592
288 FOAUX UWERIT 2= 193,878 173,286 20,592
Z8H HdPMHA 23t 193,878 173,286 20,592
FOIEO MEEH M 11,454 10,862 592
101 Q124 4] 8,954 8,362 592
04 JIANZ22XSE* 8,954 8,362 592
O0lgH= 22 g8 37,0003 x2H 8 592 0 592
28 THOH ol 2 40,000 20,000 20,000
401 Al HI K 201 40,000 20,000 20,000
01 A& HI 39,784 19,784 20,000
OA7E THoH Ml &AL 39,784 19,784 20,000




= A
N = 0 &8 AFH Y & A AN
20149 & =&F 1 3 LU Lags ~ XAH
SN e
HH: GXE BOKK WERHD 75
Chel: SXB HEMHIA 23 (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Sx e 247,789 207,789 40,000
X HALX WERKT 2= 191,065 151,065 40,000
SXo HEMHIA 25 191,065 151,065 40,000
AFD TN ol et 40,000 0 40,000
401 AlEHIZ =20 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OARS THaHoe 2A 40,000 0 40,000




N = 0l & At & Ml A

20149 =3 1 3] LESIH BAE ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Xl AHEH 266,749 235,749 31,000
ANAH XX WERAT 5 210,075 179,075 31,000
KA B AMHIA 23t 210,075 179,075 31,000
HHMEIA 222 66,175 65,175 1,000
201 LEt2A | 61,575 64,575 A 3,000
01 AtR 22l | 9,075 12,075 A 3,000
OARI1Dl 28 & 223 7Y
3,000,000& - J1& 6,000,000& A 3,000 0 A 3,000
401 AIEHI L 20 4,000 0 4,000
01 A& HI 4,000 0 4,000
Oad=24dl &X  4,000,000& - 718 0& 4,000 0 4,000
FUE M o 9,900 9,900 0
101 1Al 8,700 7,700 1,000
04 JIZHHZ2Z2XNESE S 8,700 7,700 1,000
OZ&Y ZHIJ] AR
3,100,000& - J1& 2,100,000& 1,000 0 1,000
206 M= Hl 0 1,000 21,000
01 M= 4l 0 1,000 A 1,000
Ostetztel Mz ¢ 0& - J1EF 1,000,000 A 1,000 0 A 1,000
THotolly =el=3 oz 94,000 84,000 10,000
401 Al HIZ 201 I 90,000 80,000 10,000
01 A& HI 89,136 79,136 10,000
OZd sty 10,000 0 10,000
22 THOH ol & 40,000 20,000 20,000
401 Al HIZ 2018 40,000 20,000 20,000
01 A& HI 39,784 19,784 20,000
OAE THol ol &AL 39,784 19,784 20,000




